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Two 2°m%W that bring a v, etc. - 991D RS2 1017 90 93

OVERVIEW

The &3 concludes that Ym>w 2nXY there is a requirement to say 1"92
(according to 7127) on account of ¥21p%p% 127 i Xaw. However by a 8non
NM°OW K97 such as Rv °n>>n»7 >0 °2 then 1"92 is not required.

= 995 %2 NPHNT Y1IYY INNRD 1179392 NI 1T *ad
According to this; that when two 2*m>w bring a v they are not required to
say 1"93, there is no difference 17252 nK> between 7127 and X211 in the case
where two brought the vy. The X3 originally mentioned that by *3n »2 7vnX there
would be a difference between 727 and X27. According to 7727 they would be required to
say 1"91 to testify that it was written 72w%. According to X297, however 1"92 is not
required. There can be no My w of A»1n.! Now 1727w nx» even 721 will agree to X2 that
by >7n °2 71°NK, no 1"92 is required.
= DPN NI NION JAN
However there is a difference between X271 727 if the v was 2pn.2
According to 1721 there is a 21’17 to say 1"92 on account of 71»W? because of the Xnw 771
POP% 127 . A ) PR s not a XMW R?7 ®n?. However according to X27 there is
no need for saying 1"92 by a 0™pn va.
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And in addition later in the beginning of 's 92 there is one who
maintains that two 2°m>W are required to say 1"51 according to 727 -
= NNAY XYY NNTMN N9 2PN NIT 1115Y INNRY 1929N
Even %2 anx» for he does not consider it to be a Rmow RX>7 xnbm.
According to that 7"n, the 17>1°2 X2°X of >7n *2 710X still remains.
= NNYAY NDT RN 1D 2PUNT INID
And according to those that consider >1n °2 71X to be a XIDw K97 XnHIm -
= [305N1] 132392 D919IX 72) (x,0 MpY) ’A P9I NPT NN
That which the mwn teaches us in the beginning of 2'"p, ‘and two say
that it was [signed] in our presence’, it is "w> providing that one of them say 192
anoa.

!'See N7 "7 2,2 Moo [See (also) ‘Thinking it over’ in TIE %2R 71"7 'o1n X,10.]
2 Mmoo may be explaining why the X3 does not ask now, as it asked previously (on 2,777) 77172 *Rn XX';
we are missing one of the differences, namely *7n "2 7rnXT. MO explains that since the 112 XX of
2pn remains which is similar to a0 2 710X (see *&n 77 2,2 MdOIN), therefore o™ pn will replace °2 71N
"Mn.
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From which 729 infers that saying 1v7 even by two people is not

sufficient; since the mwn did not say w2 YT 21X 2°nwN but rather only if W

TWw> Onn1 11792 0MIX; that proves they must say #[11]°192
= Y15V NN Y9N NNPNDNT 2) DY 9N

Even though presumably that 71wn is discussing the period of 17abw 2nK;
why then indeed does the mwn state 11°192 which leads us to infer that had they said 2y7
it would not be a 7w> ui. This cannot be, for 172w KR, even if the two 2mbw said
nothing it would be a w2 va.

STNPYT 39393 MYD 1TNRYY OTPT DIV 192393 VP DYPN Yan

Nevertheless, the miwn stated specifically the term %192 because before

the era of 1729, when they were still i 1°X°pa PR, then only saying 19193
would suffice. If the people are mnw" PRP2 PR we need to be assured that the v was
executed nnwY. This can be accomplished only through saying 1"192. However, 1137 only
informs us that the °7¥77 M ni are not forged, but not that it was signed 7aw5. It is only
17w Nk when there is no wwn of mnw X5, and we say 1"92 only on account of the
YP9R% 727 N XKW 7713, therefore by 10 °2 710X since it is a RPOW 897 XNPM, the o°non
were not M. The mwn states 111921 to inform us that the original m1pn of saying 1"52 was
instituted (also) on account of W% PX°Pa X, wherefore 1y7 would have been
insufficient.

SUMMARY

There is a nP1?nn in 2" whether VA 27w 221w is considered a X7 Xn?n
Xm*ow and does not require 1"92, or whether it is not a Xmow &?7 Xn?°» and
1"91 is required (according to 7127). The X i originally stated that one
practical difference between X217 727 is the case of »3n "2 7rnx. If we
maintain that »3n °2 7PNX is not a X*OW X?7 Xn?» then that difference
remains. If however we consider 20 °2 71°NXR to be a RPow X7 XnPn, then
that difference ceases to exist between X271 1727 for they both agree that 1"52
is not required. Nevertheless there will be a similar case where there will be
the same difference between X271 127. This 1s the case of a o™pn LA
According to 727 the m>w will have to say 1"93, for this is certainly not a
R°OW X97 80?1 (and pYonn X9w); and according to X271 there will be no need
to say 1"92.

In addition, according to the opinion that *n >3 71NR is a KPOW K77 RN,

4 See X277 11"7 R,3 MdOIN.
5 See ‘Thinking it over’.
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then 1715w TnKR> there will be no need to say onmi 1192 (in fact they have to
say nothing). The reason the 71wn states in the beginning of 2"o that 1"
ONM1 117192 2K, is to teach us that originally the 73pn was on account of
nnwY, whereupon 192 was required and 197 is insufficient. However 2nx®?
179w there is no requirement of °192 in the case of Xu3 *n»n7 *n "2

THINKING IT OVER

The &"v7x poses the following challenging question in the 0"wn 123, This
rule that v Xn»n7 >IN °2 is a ROV K77 8¥n?7M and does not require 1"92, is
only if they are both 2m%w. For two 2'm>w are a RmOw K77 Rn?7, and NKR?
175w they are not required to say anything. If however there is only one
9w, who says 2n21°192 and two others who are not 2’m>w say 1y7, it is not
valid (according to 7727). It is not a Xmow X>7 ¥n?>n. We do not have
confirmation that it was nnw% onnl. We are required to say °192 even 9IR?
1725w by a RiawT RN because 12P%P% 027 I RHWw.

The R7n3 states clearly in ®2"s that according to the 7"» that X v WR2W D°IW
1"52 M 0°2°%, then the 73wn in '2 P79 is discussing only cases where only
one is a YW and the other(s) are not 2’m>w.” The case MmooINn is discussing
here from 2"5 where anm 13°192 2R '21 2021 2192 IR 'R, there is only one
9w, The two that state onma 1°192 are not 2°M>W. It is definitely not a Xnn
Rr°Ow X?7. In such a case 1y is certainly not sufficient (according to 1129).
We are required to say °192 even 17172 nR? because of the =1m° Xnw 771
IP7R% 12T,

How can nmoon say® that it says there W02 only because of 1725w a7p,
when in truth even 117w 1R, nevertheless onm 11°192 is required since the
two are not 2’m>w?!’

5 x,10 7.
7 That is why the mwn there states 2109 onM3 °192 IR 'K 2023 °192 K 'X. If they were both 2m>w it would
be w>.
8 See footnote # 5.
® See 30 NIX 717 N0,
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